


·

A

Dn

A rea of AOC = Ex15(15-alsin = /15-a(
Greaof

a

= LabSin[

Area of ACB = + G x ign 2x15(1g-a) Sing
area of sector(rad) :

A
= orz
-

2

1 i = (15-a)
12

Si = 15 - a
2
a
= 15-fic ca

A
6

EDis&
-

-- cosine rule :

Ac = 152 + (5m)" - 2x5 = Ex cos( c = a + 62 - 2ab(os(2)

= P . 04 Im Length of a rclrad):

L =Br

#B = = + 15
·

~ E1mi · Perimeter of shaded a rea : 24 cm



oh = Ocn as radius g
circle

l = (ot)" + 105)" - 2101)(B) cos(<BOA)
1BOA = COS"[(O +10-1A] :cos"Al(ois)

= 1 : 35 rad (2dp)

L= gr
18

8 =
j
: 2 . 2 S rad

A=me2 . 25 - 1
-35)x82

2

= 86 . 86cm2 (2dp)
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area of OSQ= OT I s

area or OTQ = ax Sind

= zahtand

2 Katan as area of Ota =Zare of osa

tand = 20
--



(b) In the case when the perimeter of the sector is equal to half the perimeter of the𝑂𝑃𝑄
shaded region, find an expression for tan in terms of . [3]∅ ∅

Perimeter of OPQ = 24 + 20a

Perimeter of PTQ = Zatand + 20a

&
474 Zatande 2 u

4 + 20 = It and

tand = 2 + 0



L = 8x) P = 2nr+ 28x +4x

A = 8 xh B,h

z A = mr2 - 2x =

= Mr2 - gx2

=r A = Mr2- Or



C= Gr

8 == 2 : 8 rad

-

BC = 10 t un 14

P = Zotan 14 + 28

= 144 am



(c) Find the area of the shaded region. [3]

LACD = (R-2 : 8) rad Area of JACB = ExLotalin /n-2 -8)

= 563 : 04am2

Area of JAOB = Ex10" Sin zo
= 16 . 73cm2

Area of AOB =
2 - 8x10
-

2
= 140cm2

563 : 04 + 16: 79 - 140 = 434 . 74

= 440 cm

Or
Area of BAOc

= EX1otan (1 -43x10
= 289 - 84am2

↑ rea of minor sector :
2 : 84102
-

2

~ 140am >

Shaded area = ↳ 289 · 88-140

= 439 . 78
= 440 was



= Or
·

12 . 25
8 = -

= 1 .

75 rad

< Boc = tan (E)

p = 2x) +Han+ (*)+ 1 · 754x

= 36 . 26m (2dp)



(c) Find the area of the shaded region. [2]

A =)+ 1 : <s)] + 72
2

= 74 : 41m2 (2dp


